CeMHAAUATbIN YPOK | oy swedsin

I'pammaruka: 17.A: The Past Tense
17.6:  Get “Unused” To

A er6 éne cnac I barely saved him

Jléna |1 |Mruma, uto ¢ To00i? Thl coBcéM Oaéanblii! Uto- | Misha, what’s wrong with you? You're totally
2 | HUOYAB CITYYHAIOCH? pale. Did something happen?

Mirma |3 | Motii Apyr 9yTh He YTOHYJI B 03epe. Sl ero éie cnac. | My fiiend nearly drowned in the lake. I barely
saved him. (Iwas just barely able to save him.)

Jéna |4 |3HAYHT, OH JKHUB? So, he’s alive?

Myuma |5 |/[a, xuB, Cnasa bory! Ceitudc Bc€ B opsiike, HO 1 | Yeah, he’s alive. Thank goodness! Everything’s
6 |4yTh HE yMep OT cTpaxa. OK now, but I almost died from fear.

Jiéna |7 |Kak 3to ciyurnocs? How did it happen?

Mrma |8 |Korna pedsra mumm qoMoii mociae KOHIepTa, KTo-T0 | When the guys were walking home after the
9 | cmy4alHO TOJIKHYJI €rd ¥ OH YHAJ B 03epo. concert, someone accidentally push him and he
fell into the lake.

JIéna |10 | Ter OueHb TsKeJIO ABIIAING. Bcé B mopsiake? You re breathing really heavily. Is everything
OK?
Mima |11 | [Ié70 B TOM, 9TO 51 COBCEM OTBBIK OT (u3nueckoii | The thing is that I have gotten “unused” to
12 | HArpY3KH. physical activity.
CnoBapb
1| 6nén/ubrii (e) pale
3 |Tomy+ // y- drown (intransitive)
9 | o3epo (plural 03épa) lake (We saw this word last year in the phrase «Jlebeannoe 63epo».)
3 | éne (alternative: éxe éne) barely
3 | cmacai+ // cmac+” save; rescue
4 )K;IB, JKHBA, )KUBO, )KUBBI alive
6 |cTpax fear
yMepeéTh OT CTpaxa die firom fear
9 | Tomkaii+ // TONKHY+ push; shove
9 | mamaii+ // ymaj+ fall (Note the different stems between imperfective and perfective.)
10 | TSDKENBIHA heavy
adverb Tsokeno
10 | memma+ (imperfective only) breathe
11 | OTBBIKAH- // OTBBIK[HY]- OT + genitive or “get unused to”’; become unaccustomed to (See explanation.)
imperfective infinitive
11 | pusrAueckmii physical
12 | Harpy3Ka (work)load; activity
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|17.A The Past Tense (Mpoweéalwee Bpéms) |

@ Compared to English (and a lot of other languages), forming the past tense in Russian is very easy. There are
very few rules, and practically no exceptions.

As you recall, the past tense endings are based on gender and number (but not person, as in the present tense).
So, a single form, say, yutana could be used with s1, TbI, and on (assuming s and TsI are male).

17.A.1 The Past Tense Endings

Past Tense Endings
Singular
Masculine NMorJ Buaen / mor
Feminine A BMAaena/ morna
Neuter -No BuAgeno / morno
Plural 7
All Genders -Nn BMAenu / Mmornu

All of the above endings begin with a consonant (C), which means that stems ending in a vowel will attach the
endings harmoniously (V+C). The addition of the past tense endings to stems ending in a consonant may be
chaotic (C+C), with various results, which we discuss below.

@ In the past tense, there are no distinctions in conjugation type as there are in the present (Up-to-Snuff vs.
Guitar). For example, when forming the past tense it makes no difference whether the verb is a ska-xa-, {O}Ba-
(root or non-root), or a-stem (syllabic or non-syllabic). Since all end in a vowel, they just attach the ending
directly.

17.A.2  Stress Patterns in the Past Tense

Before we look at actual forms, let’s examine possible stress patterns in the past tense. There are two basic
patterns:

1) Fixed Stress (either always on the stem or on the ending — last possible vowel)

2) Shifting Stress (on the stem, except in the feminine, where the ending -714 is stressed)

We will indicate shifting stress in the past with a raised ~ above the vowel on which the stress falls in all forms
except the feminine past tense.

Fixed Stress | Shifting Stress

Stem Stressed End Stressed ; (Stem in all forms except Feminine)

i
o , , J . ’ " , r , > ” a e
3Hal+ 3HaJ / 3HAiNa / 3Hano /3vanu | BEn+ ~ BEn / Benad / Beno / Benu | )KAB+  JKWJI / SKHJIA / 5KAJIO / KATIN

The majority of verbs that have shifting stress in the past are consonant stems. (See below for exceptions.)
Recall that the opposite holds in the present, where normally only stems ending in a vowel have shifting stress.
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17.A.2a. Vowel Stems With Shifting Stress in the Past Tense

1) Many non-syllabic a-stems have shifting stress in the past:

> 14 r r 4
Kaa+ KA, JKAAJIA, )KIATIO, KN
> ” 4 4
Bpa+ BpaJ, BpaJa, BpAJlo, BpaIu
> I r ’
Oepa+ (e) Opan, Opanaa, 6pano, 6panu

“Regular” a-stems (muead+ , ckasi+ , etc.) only have shifting stress in the present tense. No exceptions.

2) Some double-stem verbs have shifting stress in the past:

’ > y ’ ’
{O6ym+/ ObI+} ObL1, OBLTA, OBUTO, OBLIH
v} > y ’ r
{mpit+ / T} AT, TAJIA, TIAJI0, TN

’ > y , ,
{BO3BM+" / B35T+} B3sJ1, B3S1J14, B35J10, B3SUIN

17.A.2a. Shifting Stress in Past; Stress on Final Stem Vowel in Infinitive

You may recall when we introduced 9ouble—stem verbs in Lesson 8 that a few verbs had a rather odd notation in
the past/infinitive stems: {Haun+"/ Haya+} and {npum+" / mpunsi+}. Why are there two different accent marks?
Well, things are messy.

In the past tense these verbs shift their stress from the first syllable to the last:

, >, , y y ,
{HauH+" / HAYA+} HAayaJi, HaYaJIa, HA4yajio, HaJaau

, >, ’ y ’ ’
{mpum+" / IpUHSI+}. MPUHSUL, NPUHSIIA, TPUHSIIO, IPUHSUIIHA

There’s nothing strange about this stress pattern. The problem is that the stress in the infinitive falls on the final
vowel of the stem:

{Haun+ / HAYA+) HaYaTh

{puM+" / mpHHsi+} MIPUHSTH
Thus, for these verbs, between the past tense and the infinitive, the stress falls on three different vowels! Kaxoii
kommap! We’ll indicate this stress pattern with a regular stress mark above the final vowel stem (the stress for

the infinitive, which is fixed), and a shifting stress mark above the first vowel of the stem (the stress for the past
tense).

3) The verb poau+...cs1 can have either shifting stress or fixed end-stress, with the masculine form even stressed
on the on the -csi):

poau+...cq POIUIICS, POTUIIACH, POIMIOCH, POJMIACH
or

POIHIICS, POANIACH, POTAIOCH, POAUINCEH

Poawu+...cq is the only u-stem in the entire language that has (potentially) shifting stress. (But you can just use the

end-stressed forms and forget about this “exception.”)
]
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“Regular” Past Tense Forms in Russian
In the chart below, we present only those consonant-stem verbs in which the final consonant from the stem is

truncated (i.e., those whose stems end in a “loser” consonant) and replaced by -a/-na/-n0/-n1u. The chart also
contains vowel-stem verbs, which never present a problem.

Combination Stem Forms
M F N Pl

V+C (harmony) | kymii+ KyTIAT KyTHiIa KYTHJIO KyTAIA
BUIE+ BUIEI BHUIEIA BUJIEIIO BUIEIIH
KpH4a+ KpHYal Kpryasna KpHYaJo KpHYAITH
nuca+ MHCAT nycana IHICAII0 MHCAIIN
KA+ KA Kmana K TAII0 SKITAIH
TaHIIEBA+ TaHIIEBAJI TaHIIEBAJIA | TAHIEBAJIO | TAHIIEBAIU
coBa+ COBAI coBaJia COBAJIO COBANH
6OpO+...cs1 Oopoiics Obopoiack 60poI0Ch O6opoIHCh

Cc+C JyMaii+ JIyMat nymaia JyMaio JIyMaTH

(first C drops) KUB+ KU KU KIITO KA

(n, B,H, A, T are CTaH+ cran crana CTAIIOo cTanu

“loser” , . . .

consonants) Kpaj+ Kpas Kpaia KpAJIo Kpanu
MET+’ ME Mena MeIo MeIIH

So, the stem-final consonants that drop are: i, B, H, I, T. The other consonants don’t go so quietly — which is
where Greasy Zeke comes in.

@ Give the Past Tense oH / oHa / Mbl forms:

1. 3amérm+ 2. BIa+ 3. cmacaii+
, > <
OCTAaH+...CSI 5. TJBIB+ 6. Kymu+
. r r <
7. Mér+ 8. ymaji 9. 0O0po+...cst
10. mpeyBenuuBaii+ 11. coBa+ 12. Bén+ "’
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17.A.2  Greasy Zeke Says “Get the JI Outta Here”

If the final letter of the stem is r-p-c-3-k (Greasy Zeke), in the masculine form of the past tense the -1 from the
ending is dropped and the stem remains intact. In all other forms, the full ending (-ma/-s0/-1m) is attached
directly to the consonant stem. So, in these non-masculine past tense forms you actually get C+C with no
truncation of either consonant.

The Past Tense of Greasy Zeke Verbs

Combination Stem Forms
M F N Pl

C+C MOT-+~ MOT MoILJIa MOIIO MOIIA

(first C remains | crpuf+...csa CTpHUTCS CTpUTIIACh | CTPUIJIOCH | CTPUTIIUCH

in all forms; n > , , , ,

is lost in 3amep+ 3arep 3amepia 3armepso 3arepan

Masculine) y™Mep+ yMep yMepia YMEPIIO yMepIH
Héc+ Héc Hecna HECIIO HECITN
crac+’ criac cracia cI1aciio cIraciim
BE3+’ BE3 BE3a BE3JI0 BE3JIU
né3+ climb ne3 né3na JIE3710 €31
MmEK+" MEK MeKIa MEKIIO TEKIN
éx+" flow TEK TEKJIA TEKJIO TEKIH

17.A.2a Greasy Zeke Drinks Beer (Not Ale)

Finally, a word about 6-stems. They are also Greasy Zeke types, so we could say that Greasy Zeke likes beer and
not ale. The problem is that the only really common 6-stem is very obscene, and we’re sure you would never
wish to utter it. Here are the two other 6-stem verbs, which behave as expected:

rpéd+” row rpé0, rpedna, rpednd, rpednn

CKpEO+” scrape ckpé0, ckpelita, ckpebnod, ckpedbin

% Give the oH / oHa / oHM forms. This exercise contains both regular and Greasy Zeke verbs:

MOCTPHL+-...CS 2. Ték+ 3. moms+’
cTép+ 5. Héc+’ )>1Mep+
7. cTpou+ 8. cmac+’ 9. obune+
10. rpé6+’ 11. méx+’ 12. s+
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17.A.3 Disappearing [ny]| Verbs

There are a number of verb stems that have the suffix my in the present tense, imperative, and infinitive, but which
drop the Hy in all forms of the past tense — and then act like Greasy Zeke verbs (keeping the final stem consonant
in all forms and not attaching J1 in the masculine). The most famous disappearing [ny] verb is mcué3[uy]+, which
itself means disappear.

Combination Stem Forms
M F N Pl

C+C (after Hy ucués[HyJ+ ucué3 ucuésna HCU€3II0 nucuésnu
drops) , , . , ,

NPUBBIK[HY ]+ | TIPUBEIK NPUBEIKJIA | MPHUBBIKIO | TPHBBIKIA
(first C remains OTBBIK[HY |+ OTBBIK OTBEIKJIA OTBEIKJIO OTBEIKIIA
in all forms; n y
is lost in 3amép3[Hy]+ | 3amép3 3amép3na 3aMEp3I10 3aMEp3IH

Masculine)

How can you tell if the ny drops? First, use our notation, in which disappearing [Hy] is contained in square
brackets, while non-disappearing Hy is not in any brackets. There are some other guidelines.

The ny will not drop if: 1) it is stressed: BEpHY+ BEpHYJI, BEPHYIIA, BEPHYJIO, BEPHYIHU
2) it is preceded by a vowel: ~ TpoéHY+ TpOHYIN, TPOHYIA, TPOHYIO, TPOHYIH

Otherwise, if a consonant precedes unstressed Hy, there’s no way to predict whether the ny stays or drops:

NPBITHY+ jump MIPBITHYJI, PEITHYJIA, TPBITHYJIO, MPLITHYJIN

ocnén[Hyl+ go blind ocnén, ocnémnmna, OCiemio, OCIEIIIH

g@ Give the oH / oHa / oHu forms:

1. ymeIOHY+...CS 2. mnokuHy+ leave 3. BCyHy+ shove in
4. npocrur[Hy]+ achieve 5. npuBBIK[HY]+ 6. wucués[uyl+
7. BepHY+..cA 8. xuc[uyl+ become sour 9. HaTKHY+...Csl bump into
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17.A.4

With the exception of just a few verbs verbs (which actually are perfectly regular — see below) the past tense and

pammaTuka
___________________________________________________________________________________________________________________________]

The Past Tense of Double-Stem Verbs

infinitive stems of all double-stem verbs end in a vowel — creating a harmonious V+C environment:

Combination Stem Forms
M F N P1
V+C {rbit+ / T+ } TIHT UIIa TAJIO TIVJTH
{yOnit+" / you+} yOuI yonI youII0 yOUIH
{MOii+...(cs1) / MBI+...(cs1) } MELI(CsT) MbLIa(Ch) MBLIO(Ch) MBUIH(CB)
{3akpoii+ / 3aKprI+} 3aKpBUT 3aKpBUIa 3aKpBUIO 3aKpBUTH
IaBai naBana IaBAIIO aBAIN
BCTaBAIl BCTaBaNa BCTaBAJIO BCTaBAIIN
{6y 1+ / GBI+ OBLT ObLTA OBLTO OBLTH
{Opéii+..(csa) / Opr+...(cs1)} opun(cs) Opunach OpHoCh OprHch
{moii+" / mé+} e néna éino nénu
{BO3bM+"/ B35+ } B3SUT B3sUTA B35T0 B3s5UIH
{én+ / éxa+} éxan éxana éxaino éxanm
{crm- / cra+} cran cnaya criana CHanu

The stems {Bcraii+" / BcTaBaii+ } and {maii+  / naBaii+} both have a past/infinitive stem that ends in i, a “loser”
consonant, which predictably is truncated: BeraBaJ (BCTaBAJ, BCTABAJM), IaBAJ (1aBAJIa, 1aBAJIO, JABAJIN).

The other two double-stem verbs whose past tense stems end in a consonant follow all the rules described earlier:

{esim+ / cém+} 1, a “loser” consonant, is truncated in all forms of the past: ces, céna, céso, céau

{asir+ / nér+"} 1, a Greasy Zeke consonant, stays in all forms of the past: aér, serna, gerJo, Jeryn

g@ Give the oH / oHa / oHu forms:

1. {6yn+/Gbl+ } 2. {BO3bM+'/ B3s+ } 3. {ém+/ éxar}
4, {mar+/ nér+"} 5. {Opéii+..csa / 6pu+...(cs1)} 6. {crm+/cma+}
7. {npum+" / npuusi+} 8. {Bcraii+  / BcraBaii+} 9. {can+/cén+}
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- ———
17.A.2 Irregular Past Tense Verbs

We could say that there are no irregular past tense verbs in the sense that only the regular past tense endings
(-1/D, -na, -no, -am) are used (as opposed to the four irregular present tense verbs with anomalous endings we
saw last week). Still, perhaps one verb deserves some attention:

méJ1, moId, muie, min
This verb is odd because the present tense stem is ma+", which certainly looks nothing like mésn/mura/mJro/mJm.

Still, we could simply classify it as the double-stem verb {un+ / mé+" (€)} where the € is a cluster buster in the
masculine past tense. (The infinitive raises some other problems. ®)

As far as the verbs that are irregular in the present temse are concerned, they are well-behaved in the past, though
aatp does have shifting stress.

ecTh en, éna, €10, éau

AaTh JIai1, Jajia, qango, Jainu

XOTETH XOTEJI, XOTENa, XOTEJI0, XOTEIN
0eKATH Oexxan, oexana, 6exano, OeKanu

l| 17.6  Getting “Unused” to Something/Someone ||

Back in Lesson 2, we saw the the verb mpuBbIkaii+ // mpuBBIK[HY]+ get used to; get accustomed to, which can
be followed either by k + dative or by an imperfective infinitive. This verb most often appears in the past tense,
but present and future are certainly possible:

51 emié He IPUBBIK K MOEMY HOBOMY COCEY. I'm not used to my new roommate yet.
OHA MPUBHIKIIA PAHO BCTABATH. She’s used to getting up early.
MBI OCTENEHHO MPUBBIKAEM K ITOTOIE 371ECh. We gradually are getting used to the weather here.

He 6ecniokoiicsa. Tl ckOpo mpuBBIKHEs T KOKa-  Don’t worry. You'll soon get used to drinking
Koény 6e3 nna. Coca-Cola without ice.

Russian also has a verb with the opposite meaning, oTBbIKAli+ // OTBBIK[HY]+ get unused to; become
unaccustomed to, which can be followed either by ot + genitive or an imperfective infinitive. This verb is found
almost exclusively in the past tense (though the present and future are theoretically possible). It can be somewhat
difficult to give an elegant, single-word English translation of this verb, as we see in the last example:

OH4 OBICTPO OTBBIKAJIA OT CBOETO OBIBIIETO MYXKa. She quickly got over her ex-husband.

S yké OTBBIKIIa TOBOPUTH TIO-PYCCKH. I’'m already out of the habit of speaking Russian.
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% MepeBeanTe Ha PYCCKUIA:

1. Are you used to classes yet? 2. I’m out of the habit of getting up earlier.
3. We’re slowly getting used to the weather here. 4. He quickly get out of the habit of studying.
5. You’ll quickly get used to the food here. 6. She’s not used to speaking French.
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,Qj YnpaxHéHue 1  Give the past tense verb forms. Try not to look back at the lesson:

fall (perfective) save (perfective) disappear (perfective)

Stem: Stem: Stem:

OH OH OH

oHA OHA OHA

OHH OHH OHH

breathe sit down (perfective) bake (imperfective)

Stem: Stem: Stem:

OH OH OH

OHA OHA OHA

OHH OHH OHH

give (perfective) give (imperfective) accept; take (a shower) (perfective)
Stems: Stems:

OH OH OH

oHA OHA OHA

OHH OHH OHH

return (to a place) (perfective)

stick; shove (perfective)

shave (imperfective)

Stem: Stem: Stems:
OH OH OH
oHa oHA OHA
OHH OHHU OHHU
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g YnpaxHéHue 2 [lepeBeanTe Ha PYCCKUIA:

1.

They’re still alive!

I have gotten unused to studying (use 3aHUMATBCS).

He saved me.

I have fallen and I can’t get up.

My favorite elephant drowned in the lake.

She nearly died from fear.
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